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QUESTION 1

For which two can you define scores in order to use scoring with Assignment Manager? (Choose two.) 

A. Criteria 

B. Rule group 

C. Candidate 

D. Mode 

Correct Answer: AC 

 

QUESTION 2

What is true when a user does not have access to any views in a screen? 

A. The views are listed only on the Site Map. 

B. The Screen containing the views is available on the Site Map, but it is empty. 

C. The views are only accessible through a drilldown. 

D. The screen is not available in the application, either through a screen tab or the Site Map. 

Correct Answer: D 

 

QUESTION 3

View the Exhibit. 

Which two fields are on the base table? (Choose two.) 
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A. City 

B. CSN 

C. Closed Date 

D. Commit Time 

E. Contact Account 

F. Calculated Account 

Correct Answer: CD 

 

QUESTION 4

In Server Administration, what does the Delete Parameter Override feature allow you to do? 

A. Delete the inherited parameter and input a new parameter. 

B. Use the current parameter on all levels higher than the current level. 

C. Remove the current parameter and reinstate parameter inheritance. 

D. Override the current parameter for the next single instance of the component. 

Correct Answer: C 

 

QUESTION 5

You have configured, verified, and published a task flow using Siebel Tools. You have registered the task flow in the
Siebel client. However a link to the task does not display in the task pane. Which two items could cause this? (Choose
two.) 
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A. You did not activate the task. 

B. You did not clear the task cache. 

C. You did not add the task to a responsibility. 

D. You did not assign the task to a task group. 

E. You did not compile the views and applets in the task. 

Correct Answer: CD 
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